Question 5

Part a. 4 of the answers below.

Lateral CT pelvis and abdomen.
Male patient.
Large homogenous mass arising from the pelvis.
Should state that this is clearly the bladder.
Lumbar osteoarthritis with osteophytes and possible cord or nerve root compression.
Calcified aorta.
Possibly enlarged prostate.

Part b. 4 of the causes below. Must include prostatic hypertrophy.

Prostatic hypertrophy.
Urethral stricture.
Drugs.
Cauda equina syndrome or other neurological cause.
Bladder tumour.
Clot retention.
Calculus in the urethra.
Constipation.
Prostatitis or possibly UTI.

Part c, 4 of the below.

Catheter care instructions.
Spare leg bags.
Trial of void arranged.
Urology outpatients arranged.
Advice about complications to look for and when to return.
Antibiotic cover.
Catheter draining well without diuresis.

